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LANGUE VIVANTE | Epreuve du 2°™ groupe
ANSWER KEY
I. COMPRENHENSION: 08 marks
A. Cloze passage (0.5 x 4 =02 marks)
1. ecological 2. deficit 3. private 4. water heaters
B. Chart Completion (0.5 x 4 = 02 marks)
5. Energy deficit 6. Candles 7. Flashlights 8. Solar or renewable energy
C. Multiple choice with justification (1 x 2 =02 marks)
9. c. Reluctance; justification: “...the banking sector reacts hesitantly..... new systems”
D. References (0.5 x 2 =01 mark)
10. Solar energy 11. Solar Senegal (staff)
E. Finding an equivalent situation (1 x 1 =01 mark)

12. and in rural areas only 10 percent

[I. LINGUISTIC AND COMMUNICATIVE COMPETENCE: 06 marks

F. Passage Completion (0.5 x 4 =02 marks)
13. despite 14. contrary to 15. therefore 16. rather
G. Dialogue Completion (0.5 x 4 =02 marks)
17. giving 18. was/has beensent  19. Any coherent and grammatically
correct question 20. for
H. Word derivation (0.5 x 4 =02 marks)
21. supplied 22. invested 23. electrification/electricity 24. solar

. WRITING: 06 marks

N.B.: For the interview, consider the format.

- Understanding 01 mark
- Originality of ideas 01 mark
- Accuracy 01 mark
- Coherence 01 mark
- Relevance 01 mark

- Consistency 01 mark



